
            

 

NỘI DUNG ÔN TẬP KHỐI 4 – MÔN TIẾNG ANH TOÁN 

(17/02/2020 – 22/02/2020) 

 

Exercise 1: Choose the correct answer for each question: 

1. Choose a suitable number to fill in the blank: 45400 > …………. > 44915 

A. 44999 B. 43012 C. 25400 

2. What does 32642 plus 12255 equal? 

A. 44997 B. 44787 C. 44897 

3. Which of the following sets of numbers is in ascending order? 

A. 22003; 32007; 99009 B. 90099; 30027; 10080 C. 18000; 99100; 20500 

4. Which of the following sets of numbers is in descending order? 

A. 91290; 11290; 71289 B. 26501; 36505; 46500 C. 90180, 89189, 78189 

5. What does 82641 minus 62259 equal? 

A. 20284 B. 20382 C. 20228 

 

Exercise 2: Match the words with the correct numbers: 

1.  Forty- five thousand nine hundred and sixty      15455 

2.  Twenty- nine thousand four hundred and sixty      29460 

3.  Forty- five thousand and ninety- nine      45960 

4.  Fifty- nine thousand four hundred and five      45099 

5.  Fifteen thousand four hundred and fifty- five      59405 

 

  



            

 

Exercise 3: Fill in the blank with the correct numbers: 

1. 89001 has ……………….thousands. 

2. 9761 = …..... thousands + …………hundreds + …………….tens + ………one. 

3. The product of the smallest 5- digit number and the largest 1- digit number is 

……….. 

4. In a bookstore, the number of book in the second floor is double the number of books 

on the first floor. If there are 12970 books in the first floor, the total number of books 

in this bookstore is ……………………………books. 

5. Ann can type 21 words in a minute. Therefore, it takes her ……………… minutes to 

type a book of 8820 words. 

 

 

 

 


